XYZ,=96.42, 100.0 , 82.49

8, =3[ (x=X) /)
bz bylz/y
=1, b,y =04

X, = 0,110, B, = 1,000
Crg=[AF+B

6 Ostwaldcolours (o)
of maximum (m) C,

linear colour space Cyg 5. Y) 1082 4
lllumin. D50, Y, 10(1Y =4 e _(46
Name Range X, v‘ X 50

R, 570_775 66.18 42.45 3 %2 50080 ms 593 401
V) 496775 8365 94.28 747 04511 0.5085573 468
G, 496570 2141 55.92 742 02526 0.6597 538 538

C, 380570 34.19 61.64 82.45 0.1917 0.3457 491 598 Parameter:
B, 380496 16,72 982 78.41 01593 0.0935 468 573 Y & Name
M, 570_496 78.06 48.17 78.45 0384 0.23435380538 i
570,
W,,380_775 96.42 100.0 8249 0.3457 0.3585 100% Nluminant DSO
N, 380_775385 40 329 03456 03585 4% Y,,=100 Y, =4

7, 380_7751735 180 1484 03457 0.3585 18%
BEN60-2A




